## Mathematic Bohemica

Rupal Shroff<br>Direct summands of Goldie extending elements in modular lattices

Mathematica Bohemica, Vol. 147 (2022), No. 3, 359-368

Persistent URL: http://dml.cz/dmlcz/151013

## Terms of use:

© Institute of Mathematics AS CR, 2022

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.


This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project DML-CZ: The Czech Digital Mathematics Library http://dml.cz

# DIRECT SUMMANDS OF GOLDIE EXTENDING ELEMENTS IN MODULAR LATTICES 

Rupal Shroff, Pune

Received November 29, 2020. Published online August 17, 2021. Communicated by Simion Breaz


#### Abstract

In this paper some results on direct summands of Goldie extending elements are studied in a modular lattice. An element $a$ of a lattice $L$ with 0 is said to be a Goldie extending element if and only if for every $b \leqslant a$ there exists a direct summand $c$ of $a$ such that $b \wedge c$ is essential in both $b$ and $c$. Some characterizations of decomposition of a Goldie extending element in a modular lattice are obtained.


Keywords: modular lattice; direct summand; Goldie extending element
MSC 2020: 06B10, 06C05

## 1. Introduction

The notion of extending modules has been studied by several researchers under the names such as extending module or a module with $C_{1}$-property or a CS-module. These modules and their generalizations are extensively studied by authors such as Harmanci and Smith (see [7]), Akalan, Birkenmeier and Tercan (see [1]), Dung et al. (see [4]). A module $M$ is called extending if every submodule of $M$ is essential in a direct summand of $M$.

Călugăreanu in [2] studied several concepts from module theory in lattices. In [1], Akalan, Birkenmeier and Tercan defined a Goldie extending module over an associative ring. They posed and answered the following open problem.

Open Problem: Determine necessary and/or sufficient conditions for a direct sum of Goldie extending modules to be Goldie extending.

In [1], Akalan et al. posed five open questions on the notion of Goldie extending module, see also [10]; out of which the following two are answered by Wu and Wang in [11]:
(1) Determine necessary and/or sufficient conditions on a module $M$ so that $M$ is $G$-extending if and only if $M$ is $G^{+}$-extending.
(2) Determine necessary and/or sufficient conditions for a direct sum of $G$-extending modules to be $G$-extending.

As an analogue of the concept of a Goldie extending module, Nimbhorkar and Shroff (see [9]) defined a Goldie extending element in a modular lattice and proved some properties of such elements. They also formulated and answered the following open problem in the context of a modular lattice.

Open Problem: Determine necessary and/or sufficient conditions for a direct sum of Goldie extending elements in a lattice to be Goldie extending.

In this paper, a lattice theoretic analogue is obtained from the results of Wu and Wang (see [11]). Some properties of direct summands of a Goldie extending element are studied in a lattice $L$ with 0 and some properties are obtained in a certain class of modular lattices by using the concept of relative ejectivity and ojectivity. The second section deals with preliminaries required in subsequent sections. In the third section, some properties of direct summands of a Goldie extending element are obtained by using the concept of ejectivity and ojectivity in modular lattices. The second open problem stated above is answered for a certain class of lattices.

## 2. Preliminaries

The concepts of lattice theory used in this paper are from Grätzer (see [5]) and Crawley and Dilworth (see [3]). Throughout this paper $L$ denotes a lattice with the least element 0 . The following definitions are from Călugăreanu, see [2].

Let $a, b \in L, a \leqslant b, a$ is said to be essential in $b$ (or $b$ is an essential extension of $a$ ) if there is no nonzero $c \leqslant b$ such that $a \wedge c=0$. It is denoted by $a \leqslant_{e} b$. If $a \leqslant_{e} b$ and there is no $c>b$ such that $a \leqslant_{e} c$, then $b$ is called a maximal essential extension of $a$. An element $a \in L$ is closed (or essentially closed) in $b$ if $a$ has no proper essential extension in $b$.

The concept of the max-semicomplement is defined by Nimbhorkar and Shroff in [8]. If $a, b \in L$ and $b$ is a maximal element in the set $\{x: x \in L, a \wedge x=0\}$, then $b$ is said to be a max-semicomplement of $a$.

Some properties of essential extensions and closed extensions that are used in subsequent sections follow.

Lemma 2.1 ([6], Lemma 2). In a lattice $L$ with 0 , the following statements hold.
(1) If $a, b, c \in L$, then $a \leqslant_{e} b$ implies $a \wedge c \leqslant_{e} b \wedge c$.
(2) If $a \leqslant b \leqslant c$, then $a \leqslant_{e} b, b \leqslant_{e} c$ if and only if $a \leqslant_{e} c$.

The concept of direct summands in lattices is introduced by Nimbhorkar and Shroff in [9]. If $a, b, c \in L$ are such that $a \vee b=c$ and $a \wedge b=0$, then $a$ and $b$ are called direct summands of $c$ and it is denoted by $c=a \oplus b$. Here $c$ is a direct sum of $a$ and $b$. In a modular lattice $L$, if $a, b, c \in L$ are such that $c=a \oplus b$, then $a$ is a max-semicomplement of $b$ in $c$. Hence, the direct summands of $c$ are closed in $c$. Also, in a modular lattice $L$ if $a, b, c \in L$ are such that $a \leqslant b \leqslant c$ and $a$ is a direct summand of $c$, then $a$ is also a direct summand of $b$.

Let $a \in L$. If for any two direct summands $b, c$ of $a, b \vee c$ is a direct summand of $a$, then $a$ satisfies the summand sum property. Also, if for any two direct summands $b, c$ of $a$ with $b \wedge c \neq 0, b \wedge c$ is a direct summand of $a$, then $a$ satisfies the summand intersection property.

In a modular lattice $L$ if an element $a$ satisfies the summand sum (intersection) property, then every direct summand of $a$ satisfies the summand sum (intersection) property.

Lemma 2.2 ([6], Lemma 3). Let $L$ be a modular lattice with 0. Suppose that $a, b, c, d \in L$ are such that $a \leqslant b, c \leqslant d$ and $b \wedge d=0$. Then $a \leqslant e b, c \leqslant e d$ if and only if $a \oplus c \leqslant_{e} b \oplus d$.

Throughout this paper, wherever necessary, it is assumed that $L$ satisfies one or more of the following conditions:

Condition (1): For any $a \leqslant b$ there exists a maximal essential extension of $a$ in $b$.

Condition (2): For any $a \leqslant b$ and for any $c \leqslant b$ with $c \wedge a=0$, there exists a max-semicomplement $d \geqslant c$ of $a$ in $b$.

A familiar and important class of lattices with these properties is the class of upper continuous modular lattices, in particular, the lattices of ideals of a modular lattice with 0 .

Lemma 2.3 ([9]). Let $L$ be a modular lattice with 0 satisfying condition (2). Let $a, b \in L$ and $a \leqslant b$. Then $a$ is closed in $b$ if and only if $a$ is a max-semicomplement of some $c \leqslant b$.

Proposition 2.1 ([2], Proposition 4.4). Let $L$ be a modular lattice with 0 satisfying condition (2) and $a, b \in L$ be such that $a \wedge b=0$. Then $a$ is a maxsemicomplement of $b$ in $L$ if and only if $a$ is closed in $L$ and $a \vee b$ is essential in $L$.

An element $a$ of a lattice $L$ is called extending if every nonzero $b \leqslant a$ is essential in a direct summand of $a$.

Note that in a modular lattice $L$ satisfying condition (1), every nonzero $a \leqslant b$ has a maximal essential extension in $b$ and a maximal essential extension is closed. Hence, a nonzero $a \in L$ is extending if every $b \leqslant a$, which is closed in $a$, is a direct summand of $a$.

Let $L$ be a modular lattice satisfying conditions (1) and (2) and $a \leqslant b$. Then $b$ is extending if every max-semicomplement in $b$ is a direct summand of $b$. Also, if $a \in L$ is extending, then every direct summand of $a$ is extending.

As a generalization of an extending element, Nimbhorkar and Shroff in [9] defined a Goldie extending element in a lattice. They have also defined the following relations and an $a$-ejective element in a lattice.

Let $a, b \in L$. Then
(1) $a \alpha b$ if and only if there exists $c \in L$ such that $a \leqslant_{e} c$ and $b \leqslant_{e} c$.
(2) $a \beta b$ if and only if $a \wedge b \leqslant_{e} a$ and $a \wedge b \leqslant_{e} b$.

Note that $a \alpha b$ implies $a \beta b$, but the converse need not hold. $a \beta b$ is an equivalence relation on $L$. By using the condition $\beta$, a Goldie extending element in a lattice $L$ with 0 is defined.

Definition 2.1. Let $L$ be a lattice and $a \in L$. If for every $b \leqslant a$ there exists a direct summand $c$ of $a$ such that $b \beta c$, then $a$ is said to be a Goldie extending ( $G$-extending) element.

Equivalently, a $G$-extending element in a modular lattice $L$ can be defined as follows.

An element $a \in L$ is called a Goldie extending element if for every closed element $b \leqslant a$ there exists a direct summand $c$ of $a$ such that $b \beta c$ holds.

In the following result a necessary and sufficient condition for an element to be Goldie extending is given.

Lemma 2.4. Let $L$ be a lattice and $a \in L$. Then the following statements are equivalent.
(1) $a$ is a $G$-extending element.
(2) For every $b \leqslant a$ there exists $c \leqslant a$ and a direct summand $d$ of $a$ such that $c \leqslant e b$ and $c \leqslant_{e} d$.

## 3. Direct summands of Goldie extending elements

In this section, the properties of direct summands of $G$-extending elements are studied in the context of summand sum property, relative ojectivity and relative ejectivity. The notion of a module $N$ being $M$-injective is generalized to $M$-ejective by Akalan et al. (see [1], Definition 2.1). An analogue of the same is defined by Nimbhorkar and Shroff in [9] as follows:

Definition 3.1. Let $a, b, c \in L$ be such that $a=b \oplus c$. Then $b$ is said to be $c$-ejective in $a$ if for every $d \leqslant a$ such that $d \wedge b=0$ there exists an $f \leqslant a$ such that $a=b \oplus f$ and $d \wedge f \leqslant_{e} d$. If $b$ is $c$-ejective and $c$ is $b$-ejective, then $b$ and $c$ are said to be relatively ejective.

Lemma 3.1. Let $L$ be a modular lattice satisfying conditions (1) and (2) and $a, a_{1}, a_{2} \in L$. Suppose that $a=a_{1} \oplus a_{2}$ and $a$ is $G$-extending and $a$ satisfies the summand sum property. Then $a_{1}$ and $a_{2}$ are relatively ejective.

Proof. Let $b \in L$ be such that $b \leqslant a$ and $b \wedge a_{1}=0$. Since $a$ is $G$-extending, there exists a direct summand $d$ of $a$ such that $b \wedge d \leqslant_{e} b$ and $b \wedge d \leqslant_{e} d$. Now $b \wedge a_{1}=0$ implies that $(b \wedge d) \wedge a_{1}=0$ and $b \wedge\left(d \wedge a_{1}\right)=0, b \wedge d \leqslant_{e} d$ implies that $d \wedge a_{1}=0$.

Since $a$ satisfies the summand sum property, $d \wedge a_{1}=0$ implies that $d \oplus a_{1}$ is a direct summand of $a$. Hence, there exists a direct summand $c$ of $a$ such that $a=a_{1} \oplus d \oplus c$. Now it remains to show that $b \wedge(d \oplus c) \leqslant e b$. Since $b \wedge d \leqslant b \wedge(d \oplus c) \leqslant b$ and $b \wedge d \leqslant_{e} b$, by Lemma $2.1(2), b \wedge(d \oplus c) \leqslant_{e} b$. Hence $a_{1}$ is $a_{2}$-ejective.

Similarly, it can be proved that $a_{2}$ is $a_{1}$-ejective.
The concept of an ojective ideal in a lattice is defined by Nimbhorkar and Shroff in [8] as follows:

Definition 3.2. Let $I, J, K \in I(L)$ be such that $K=I \oplus J$. The ideal $J$ is said to be $I$-ojective if for any max-semicomplement $C$ of $J$ in $K, K$ can be decomposed as $K=C \oplus I^{\prime} \oplus J^{\prime}$ with $I^{\prime} \subseteq I$ and $J^{\prime} \subseteq J$.

An analogue of this concept is formulated as an ojective element in a lattice as follows:

Definition 3.3. Let $a, b, c \in L$ be such that $c=a \oplus b$. The element $b$ is said to be $a$-ojective if for any max-semicomplement $k$ of $b$ in $c, c$ can be decomposed as $c=k \oplus a^{\prime} \oplus b^{\prime}$ with $a^{\prime} \subseteq a$ and $b^{\prime} \subseteq b$.

If $a$ is $b$-ojective and $b$ is $a$-ojective for some $c=a \oplus b$, then $a$ and $b$ are called mutually ojective.

Example 3.1. In the lattice shown in Figure 1, consider the elements $k, f, j$ such that $k=f \oplus j$. Also, $j$ has a max-semicomplement $c$ and there exist elements $a \leqslant f$ and $d \leqslant j$ such that $k=f \oplus j=a \oplus d \oplus c$. Hence $j$ is $f$-ojective.


Figure 1.
The following proposition is proved by Nimbhorkar and Shroff in [8] for ideals of a lattice. However, it can be similarly proved for elements of a lattice satisfying conditions (1) and (2).

Proposition 3.1. Let $L$ be a modular lattice and $I, J, K \in \operatorname{Id}(L)$ be such that $K=I \oplus J$. Let $I_{1}$ and $J_{1}$ be direct summands of $I$ and $J$, respectively. If $J$ is $I$-ojective, then:
(1) $J_{1}$ is I-ojective,
(2) $J$ is $I_{1}$-ojective,
(3) $J_{1}$ is $I_{1}$-ojective.

Lemma 3.2. Let $L$ be a modular lattice satisfying conditions (1) and (2) and $a, b, c \in L$ be such that $c=a \oplus b$. Suppose that $b$ is $a$-ojective and $a$ is $G$-extending. If $e \in L$ be such that $e \leqslant a$ and $e \wedge b=0$, then there exists a direct summand $d$ of $c$ such that $e \beta d$ and $c=d \oplus a^{\prime} \oplus b^{\prime}$ for $a^{\prime} \leqslant a, b^{\prime} \leqslant b$.

Proof. Let $k=(e \oplus b) \wedge a$. Then by modularity of $L$,

$$
b \oplus k=b \oplus[(e \oplus b) \wedge a]=(b \oplus a) \wedge(e \oplus b)=c \wedge(e \oplus b)=e \oplus b
$$

Since $a$ is $G$-extending, there exist a direct summand $a_{1}$ of $a$ such that

$$
k \wedge a_{1} \leqslant_{e} k \quad \text { and } \quad k \wedge a_{1} \leqslant_{e} a_{1} .
$$

Put $f=a_{1} \oplus b$. Then

$$
\left(k \wedge a_{1}\right) \oplus b \leqslant_{e} a_{1} \oplus b=f \quad \text { and } \quad\left(k \wedge a_{1}\right) \oplus b \leqslant_{e} k \oplus b=e \oplus b .
$$

Now,

$$
k \wedge a_{1}=(e \oplus b) \wedge a \wedge a_{1}=(e \oplus b) \wedge a_{1}
$$

By modularity of $L$,

$$
\left(k \wedge a_{1}\right) \oplus b=\left[(e \oplus b) \wedge a_{1}\right] \oplus b=(e \oplus b) \wedge\left(a_{1} \oplus b\right)=(e \oplus b) \wedge f
$$

Hence $\left(k \wedge a_{1}\right) \oplus b \leqslant_{e}(e \oplus b)$. This implies that $(e \oplus b) \wedge f \leqslant_{e}(e \oplus b)$.
Again, by modularity for $b \leqslant f,(e \oplus b) \wedge f=b \oplus(e \wedge f)$. Hence, by Lemma 2.2, $e \wedge f \leqslant e$.

Now $e \wedge f \leqslant e$ implies that there exists a closed element $f_{1} \leqslant f$ which is a maximal essential extension of $e \wedge f$ such that $e \wedge f \leqslant e f_{1}$.

Now, by using modularity,

$$
\left(k \wedge a_{1}\right) \oplus b \leqslant_{e} f \Rightarrow(e \oplus b) \wedge f \leqslant_{e} f \Rightarrow b \oplus(e \wedge f) \leqslant_{e} f
$$

Since $f_{1}$ is a maximal essential extension of $e \wedge f$ in $f$ and $b \oplus(e \wedge f) \leqslant_{e} f$, it follows that $f_{1}$ is a max-semicomplement of $b$ in $f$. But $b$ is $a$-ojective and therefore $b$ is $a_{1}$-ojective, which yields

$$
f=f_{1} \oplus a_{1}^{\prime} \oplus b^{\prime}, \quad a_{1}^{\prime} \leqslant a_{1}, b^{\prime} \leqslant b .
$$

Now, there exists a direct summand $a_{2}$ of $a$ such that $a=a_{1} \oplus a_{2}$. Therefore

$$
c=a_{1} \oplus a_{2} \oplus b=f \oplus a_{2}=f_{1} \oplus a_{1}^{\prime} \oplus b^{\prime} \oplus a_{2}, \quad a_{1}^{\prime} \oplus a_{2} \leqslant a, \quad b^{\prime} \leqslant b
$$

Also, $e \wedge f \leqslant f_{1} \leqslant f$ and so $e \wedge f=e \wedge f_{1}$. Hence, $e \wedge f_{1} \leqslant_{e} e, e \wedge f_{1} \leqslant_{e} f_{1}$, and so $e \beta f_{1}$ holds. This completes the proof.

Lemma 3.3. Let $L$ be a modular lattice satisfying conditions (1) and (2) and $a, a_{1}, a_{2} \in L$ be such that $a=a_{1} \oplus a_{2}$. Suppose that $a$ satisfies the summand sum property. If $a_{1}$ is $a_{2}$-ojective (or $a_{2}$ is $a_{1}$-ojective) and $a_{1}$ (or $a_{2}$ ) is $G$-extending, then $a$ is $G$-extending.

Proof. Let $b \in L$ be such that $b \leqslant a$. If $b \wedge a_{1}=0$, then by Lemma 3.2, there exists a direct summand $d$ of $a$ such that $b \beta d$. So $a$ is $G$-extending.

If $b \wedge a_{1} \neq 0$, then there exists a maxsemicomplement $k \leqslant b$ of $b \wedge a_{1}$ such that $\left(b \wedge a_{1}\right) \oplus k \leqslant e b$. It is clear that $k \wedge a_{1}=0$. Then by Lemma 3.2, there exists a direct summand $c$ of $a$ such that $k \beta c$, i.e. $k \wedge c \leqslant_{e} k, k \wedge c \leqslant_{e} c$. Note that $(k \wedge c) \wedge a_{1}=0$.

Since $a_{1}$ is $G$-extending by Lemma 2.4, for $b \wedge a_{1}$ there exists some $m \leqslant a_{1}$ and a direct summand $d_{1}$ of $a_{1}$ such that $m \leqslant_{e} b \wedge a_{1}$ and $m \leqslant_{e} d_{1}$. Then $m \leqslant_{e} b \wedge a_{1}$, $\left(b \wedge a_{1}\right) \wedge k=0, k \wedge c \leqslant_{e} k$ together imply that $(k \wedge c) \oplus m \leqslant_{e}\left(b \wedge a_{1}\right) \oplus k \leqslant_{e} b$. Hence $(k \wedge c) \oplus m \leqslant_{e} b$. Also, $k \wedge c \leqslant_{e} c$ and $m \leqslant_{e} d_{1}, c \wedge a_{1}=0$ together imply that $(k \wedge c) \oplus m \leqslant_{e} c \oplus d_{1}$.

Since $a$ satisfies the summand sum property, $c \oplus d_{1}$ is a direct summand of $a$. Hence by Lemma 2.4, $a$ is $G$-extending.

Theorem 3.1. Let $L$ be a modular lattice satisfying conditions (1) and (2) and $a, a_{1}, a_{2} \in L$ be such that $a=a_{1} \oplus a_{2}$. Suppose that $a$ satisfies the summand sum property. If $a_{1}$ is $a_{2}$-ojective (or $a_{2}$ is $a_{1}$-ojective) and $a_{1}$ and $a_{2}$ are $G$-extending, then $a_{1}$ and $a_{2}$ are relatively ejective.

Proof. Follows from Lemma 3.1 and Lemma 3.3.
Theorem 3.2. Let $L$ be a modular lattice satisfying conditions (1) and (2). Let $a, a_{i} \in L$ for an indexing set $i \in I$ be such that $a=\bigoplus_{i \in I} a_{i}$ with $|I| \geqslant 2$. Suppose that $a$ satisfies the summand sum property. Then the following statements are equivalent.
(1) $a$ is $G$-extending.
(2) If there exists $i \neq j$ in $I$ such that for every $b \leqslant a$ with $b \wedge a_{i}=0$ or $b \wedge a_{j}=0$, then there exists a direct summand $d$ of $a$ such that $b \beta d$.
(3) If there exists $i \neq j$ in $I$ such that for every $b \leqslant a$ with $b \wedge a_{i} \leqslant e b$ or $b \wedge a_{j} \leqslant e b$ or $b \wedge a_{i}=b \wedge a_{j}=0$, then there exists a direct summand $d$ of $a$ such that $b \beta d$.

Proof. (1) $\Rightarrow(3)$ : Let $a$ be a $G$-extending element in $L$. Then statement (3) holds by the definition.
$(3) \Rightarrow(2)$ : Let (3) hold and let $b \leqslant a$ with $b \wedge a_{j}=0$. Then there exists a maxsemicompliment $m \leqslant b$ of $b \wedge a_{i}, i \neq j$ such that

$$
\left(b \wedge a_{i}\right) \oplus m \leqslant_{e} b
$$

It is clear that $m \wedge a_{i}=m \wedge a_{j}=0, i \neq j$. Then by (3), there exists a direct summand $d$ of $a$ such that $m \beta d$, that is

$$
m \wedge d \leqslant_{e} m, \quad m \wedge d \leqslant_{e} d
$$

Now it is clear that $\left(b \wedge a_{i}\right) \wedge a_{i} \leqslant_{e} b \wedge a_{i}$. Therefore by (3), there exists a direct summand $k$ of $a$ such that $\left(b \wedge a_{i}\right) \beta k$, that is

$$
\left(b \wedge a_{i}\right) \wedge k \leqslant_{e} b \wedge a_{i} \quad \text { and } \quad\left(b \wedge a_{i}\right) \wedge k \leqslant_{e} k
$$

Hence by Lemma 2.2,

$$
\left(b \wedge a_{i}\right) \wedge k \leqslant_{e} b \wedge a_{i}, \quad m \wedge d \leqslant_{e} m
$$

implies that

$$
\left[\left(b \wedge a_{i}\right) \wedge k\right] \oplus(m \wedge d) \leqslant_{e}\left(b \wedge a_{i}\right) \oplus m \leqslant_{e} b
$$

and

$$
\left(b \wedge a_{i}\right) \wedge k \leqslant_{e} k, \quad m \wedge d \leqslant_{e} d
$$

This implies that

$$
\left[\left(b \wedge a_{i}\right) \wedge k\right] \oplus(m \wedge d) \leqslant e(k \oplus d)
$$

Since $a$ satisfies summand sum property, $k \oplus d$ is a direct summand of $a$. Thus $b \beta(k \oplus d)$.

The case $b \wedge a_{i}=0$ is analogous. Hence (2) holds.
$(2) \Rightarrow(1)$ : Let (2) hold and let $b \leqslant a$ be such that $b \wedge a_{i} \neq 0$. Then there exists a max-semicompliment $m \leqslant b$ of $b \wedge a_{i}$ such that $\left(b \wedge a_{i}\right) \oplus m \leqslant_{e} b$. It is clear that $m \wedge a_{i}=0$. Then by (3), there exists a direct summand $d$ of $a$ such that $m \beta d$, that is,

$$
m \wedge d \leqslant_{e} m, \quad m \wedge d \leqslant_{e} d
$$

Now it is clear that $\left(b \wedge a_{i}\right) \wedge a_{j}=0, i \neq j$. Therefore by (2), there exists a direct summand $k$ of $a$ such that

$$
\left(b \wedge a_{i}\right) \beta k
$$

that is,

$$
\left(b \wedge a_{i}\right) \wedge k \leqslant_{e} b \wedge a_{i} \quad \text { and } \quad\left(b \wedge a_{i}\right) \wedge k \leqslant_{e} k .
$$

Hence by Lemma 2.2,

$$
\left(b \wedge a_{i}\right) \wedge k \leqslant_{e} b \wedge a_{i}, \quad m \wedge d \leqslant_{e} m
$$

This implies that

$$
\left[\left(b \wedge a_{i}\right) \wedge k\right] \oplus(m \wedge d) \leqslant_{e}\left(b \wedge a_{i}\right) \oplus m \leqslant_{e} b
$$

and

$$
\left(b \wedge a_{i}\right) \wedge k \leqslant_{e} k, \quad m \wedge d \leqslant_{e} d
$$

This implies

$$
\left[\left(b \wedge a_{i}\right) \wedge k\right] \oplus(m \wedge d) \leqslant_{e}(k \oplus d)
$$

Since $a$ satisfies summand sum property, $k \oplus d$ is a direct summand of $a$. Thus, by Lemma 2.4, $a$ is $G$-extending.

## References

[1] E. Akalan, G.F. Birkenmeier, A. Tercan: Goldie extending modules. Commun. Algebra 37 (2009), 663-683.
zbl MR doi
[2] G. Călugăreanu: Lattice Concepts of Module Theory. Kluwer Texts in the Mathematical Sciences 22. Kluwer, Dordrecht, 2000.
[3] P. Crawley, R. P. Dilworth: Algebraic Theory of Lattices. Prentice Hall, Engelwood Cliffs, 1973.
[4] N. V.Dung, D. V. Huynh, P. F. Smith, R. Wisbauer: Extending Modules. Pitman Research Notes in Mathematics Series 313. Longman Scientific, Harlow, 1994.
zbl MR
[5] G. Grätzer: General Lattice Theory. Birkhäuser, Basel, 1998.
[6] P. Grzeszczuk, E. R. Puczytowski: On Goldie and dual Goldie dimensions. J. Pure Appl. Algebra 31 (1984), 47-54.
zbl MR doi
[7] A.Harmanci, P.F. Smith: Finite direct sums of CS-modules. Houston J. Math. 19 (1993), 523-532.
[8] S. K. Nimbhorkar, R. C. Shroff: Ojective ideals in modular lattices. Czech. Math. J. 65
[9] S. K. Nimbhorkar, R. C. Shroff: Goldie extending elements in modular lattices. Math.
zbl MR Bohem. 142 (2017), 163-180.
zbl MR doi
[10] A. Tercan, C. C. Yücel: Module Theory: Extending Modules and Generalizations. Frontiers in Mathematics. Birkhäuser, Basel, 2016.
zbl MR doi
[11] D. Wu, Y. Wang: Two open questions on Goldie extending modules. Commun. Algebra 40 (2012), 2685-2692.
zbl MR doi

Author's address: Rupal Shroff, School of Mathematics and Statistics, MIT World Peace University, S. No. 124, Paud Road, Kothrud, Pune, Maharashtra 411038, India, e-mail: rupal.shroff@mitwpu.edu.in, rupal_shroff84@yahoo.co.in.

